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HUNE AV N R TR S B

T TS W T EH%EJ(}EH H : R234E4 A 27H
= AT7KY ? =8 =3 it i=8 i KB 7K TR ;
AR (¥ L i) (Chr8) G4 1 1) ik | AT ) PRILIEE
EHH () % JE e e ] ) 1| AAKER {1 A%E R
A B AR 13:33 12:46 10:30 11:17 — —
KA i) i i IS — —
el (C) 23.5 22.8 25.3 24.3 — —
BEARAL (BEKHL) (m) 87. 87 87.87 — — — —
AR (ki) (m*/s) 34. 06 34. 06 — — — —
i E (ki) (m*/s) 64.78 64. 78 — — — —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 5.0 >4.9 — — — —
ARt (BE/KH) 7 7 — — — —
KB (m) 7.4 4.9 0.7 3.1 — —
BRAKTGE (m) 0.5 3.7 6.4 0.5 0.1 0.6 — —
SR 2,395 B 2,355 9] I £2,395 B 2,355 9] 2,355 1) 2,355 1) — —
B (HHE) i R i R i R iR R R — —
KR §®) 13.5 12.8 12.7 13.3 13.5 14.0 — —
B (£) 0.0 0.1 0.6 0.2 0.1 0.4 — —
DO (mg/1) 9.1 7.6 7.3 7.3 10.7 8.8 — —
B RUREE (mS/m) 5.1 4.3 4.0 5.4 6.6 5.0 — —
W (h) ) (EENSHT) () 1.4 2.7 1.7 1.3 0.7 1.8 — —
DO (ZEN43#T) (mg/1) 10.8 10.8 10.8 10.7 10.5 10.6 — 7.500 k
pH (—) 7.5 7.5 7.4 7.7 7.5 7.6 — 6.50L 8. 5LLF
BOD (mg/1) 0.4 0.3 0.4 0.4 0.3 0.4 — ILLF | 2uF
CODMn (mg/1) 1.6 1.6 1.6 1.5 1.4 1.6 — —
SsS (mg/1) 1.3 1.2 1.2 0.8 0.8 1.2 — 25LLF
KRAGHERE L (MPN/100m1) 130 270 330 220 490 1300 — 50LLF | 1,00084 F
(e (mg/1) 0. 492 0. 492 0. 502 0. 497 0. 468 0. 502 — —
By (mg/1) 0. 008 0. 009 0. 008 0. 007 0. 007 0. 009 — —
Va=-3= Py (mg/m”) 0.1 0.1 0.2 0.1 0.2 0.2 — —
HERRE%E & (mg/1) 0. 397 0. 393 0. 393 0. 392 0. 377 — — —
MAEER e % 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR LHEREE (mg/1) 0. 037 0.014 0.023 0.012 0.012 — — —
k) CEEREY v (mg/1) 0. 004 0.003 0. 004 0. 004 0. 003 — — —
VAR Y > (mg/1) 0. 004 0. 004 0. 004 — — — — —
VERRMEA L N Y L RTE Y (mg/1) 0. 002 0. 002 0. 003 — — — — —
TJxA T 4Fa (mg/m”) 0.0 0.0 0.0 — — — — —
ik (mg/1) 0. 005 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VA AIV (ng/1) — — — — — — — —
kU Nm A X ERRRE (mg/1) — — — — — — — —
R R A0 A% A0 A% A1) HAARE A AL A% A0 A%




HUNE AV N R TR S B

T TS W T j?ﬁ?a: FAE234E5 A 10H
5 SV ¥ R =y it =y i Vi SEW/ e/ 5
AR (¥ L i) (Chr8) AN ik | AT ) PRILIEE
JH (HAD) ) g \ T8 ) AASERL )| AYE R
A B AR 10:19 11:40 7:50 9:13 11:18 —
KA Z 2 55 2 2 —

el (C) 25.2 25.0 22.0 27.5 26.8 —
BEARAL (BEKHL) (m) 87.93 87.93 — — 87.93 —
AR (ki) (m*/s) 29.31 29.31 — — 29.31 —
i E (ki) (m*/s) 29. 31 29. 31 — — 29. 31 —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 5.5 >4.7 — — >5.3 —

ARt (BE/KH) 12 11 — — 12 —
KB (m) 7.6 4.7 0.8 3.1 5.3 —
BRAKTGE (m) 0.5 3.8 6.6 0.5 0.2 0.6 0.5 —
SR 2,395 B 2,355 9] I £2,395 B 2,355 9] 2,355 1) 2,355 1) 2375 9 —

B (HHE) i R i R i R iR R R R —

KR (©) 18.6 18.1 16.6 18.4 18.3 17.7 18.9 —

B (£) 0.4 0.4 1.3 0.3 0.4 0.5 0.3 —

DO (mg/1) 7.3 6.3 4.8 7.0 8.9 6.7 6.4 —
SR (mS/m) 6.6 4.9 4.7 6.6 7.8 6.1 6.3 —

W (h) ) (EENSHT) () 0.9 1.0 1.3 0.6 0.5 1.2 — —

DO (ZEN43#T) (mg/1) 10.0 10.1 10.1 10.0 9.3 10.1 — 7.5k
pH (—) 7.6 7.6 7.6 7.7 7.6 7.7 — 6.50L 8. 5LLF
BOD (mg/1) 0.6 0.4 0.5 0.6 0.4 0.5 — ILLF | 2uF
CODMn (mg/1) 1.4 1.3 1.3 1.2 1.2 1.5 — —

SsS (mg/1) 0.9 1.0 1.9 0.5 0.7 1.6 — 25LLF
KGR (MPN/100m1) 110 45 140 330 1400 490 — 50LLF | 1,00080 F
IR (mg/1) 0.372 0. 357 0. 352 0.333 0.318 0.372 — —
By (mg/1) 0. 008 0. 008 0. 007 0. 006 0. 007 0. 009 — —
Va=-3= WP (mg/m”) 2.4 2.0 2.2 0.6 0.9 2.3 — —
HERRE%E & (mg/1) 0. 259 0. 259 0. 255 0.232 0.224 — — —
MAEER e % 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR LHEREE (mg/1) 0. 055 0. 047 0. 036 0.038 0. 028 — — —
AR CERREY (mg/1) 0.001 0.001 0.001 0. 001 0. 002 — — —
VAR Y > (mg/1) 0. 003 0. 002 0. 002 — — — — —
VERRMEA L N Y L RTE Y (mg/1) 0. 001 0. 001 0. 001 — — — — —
TJxA T 4Fa (mg/m”) 0.0 0.0 0.1 — — — — —
ik (mg/1) 0.003 — — — — — — 0.03LLF
2MIB (ng/1) 0 — — — — — 0 —
et AI v (ng/1) 1 — — — — — 0 —
kU~ A B R RRRE (mg/1) 0. 022 — — — — — 0. 022 —

BRI YRR

A | AFRR

{1 AFRRY

A1 AAERY

A | AFRRY

A1 AFRRY




HUNE AV N R TR S B

— T — T k%ﬁ%ﬁj(%ﬁ H: ERk2346 H 7 H
= TKY i =8 =3 it i=8 i KB 7K TR ;
A (4 A Eif) (ZA746) (L 01 ) (FaBkR) | @A) PRIIEE
JH (W) )8 1 TE 7| ANSERY 7)1 AJER
A B AR 10:10 11:01 7:51 9:06 — —
KA Z 2 2 2 — —
el (C) 21.8 21.8 18.2 21.8 — —
BEARAL (BEKHL) (m) 87.99 87.99 — — — —
AR (ki) (m*/s) 117. 44 117. 44 — — — —
o E (ki) (m®/s) 113.99 113.99 — — — —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 3.7 3.6 — — — —
ARt (BE/K ) 12 12 — — — —
UK (m) 8.0 4.5 0.8 3.6 — —
KGR (m) 0.5 4.0 7.0 0.5 0.2 0.7 — —
S 2,395 9 I £2,395 B 2,395 9] 2,355 9] I 2,355 9] 2,395 9] — —
B () i R R R R R R — —
KR (‘) 17.3 16.8 16.8 17.3 17.3 17.0 — —
B () 2.1 2.6 2.6 2.6 2.8 3.2 — —
DO (mg/1) 7.9 8.3 8.8 8.4 10. 2 8.2 — —
BRI (mS/m) 4.6 4.7 4.5 4.5 4.2 4.4 — —
W (ht) ) (EENSHT) (i) 1.6 1.7 1.7 1.7 1.7 1.8 — —
DO (ZEN53#T) (mg/1) 9.9 9.9 9.8 9.9 9.9 9.9 — 7.5L0
pH (—) 7.6 7.6 7.5 7.5 7.5 7.5 — 6. 500 8. 5LLTF
BOD (mg/1) 0.6 0.4 0.5 0.6 0.5 0.5 — ILLF | 2LF
CODMn (mg/1) 1.5 1.6 1.5 1.5 1.6 1.5 — —
SsS (mg/1) 1.7 1.9 2.0 1.8 1.8 1.9 — 25LLF
KGR (MPN/100m1) 2200 1700 1300 2400 2400 1100 — 504 F | 1,00084 F
IR (mg/1) 0.328 0.332 0. 328 0. 308 0.274 0.347 — —
MWy v (mg/1) 0.010 0.010 0. 009 0. 009 0. 009 0. 001 — —
rsuana7 4)ba (mg/m”) 1.2 1.3 1.1 1.0 1.2 1.2 — —
HERRE%E & (mg/1) 0. 244 0. 247 0. 248 0.223 0. 204 — — —
MAEER e % 5 (mg/1) 0. 002 0.001 0.001 0. 001 0. 001 — — —
TR LHEREE (mg/1) 0. 045 0.022 0.031 0.017 0.014 — — —
k) CEEREY v (mg/1) 0.003 0. 002 0.003 0. 003 0. 001 — — —
RFERR Y (mg/1) 0. 004 0. 004 0. 003 — — — —
VERRMEA L N Y L RTE Y (mg/1) 0. 003 0. 002 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.2 0.2 0.1 — — — —
ik (mg/1) 0. 006 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VA AIV (ng/1) — — — — — — — —
kU Nm A X ERRRE (mg/1) — — — — — — — —
R R A0 A% A0 A% A1) HAARE A AL A% A0 A%




HUNE AV N R TR S B

T TS W T j?ﬁ?a: SERE23ET A 12 H
= AT7KY ? =8 =3 it i=8 i KB 7K TR ;
AR (¥ L i) (Chr8) G4 1 1) ik | AT ) PRILIEE
JH (HAD) ) t1)g \ T ) AASERL )| AYE R
A B AR 10:18 11:08 7:59 9:04 — —
KA 551 = 5§} 5§} — —

el (C) 23.5 24.1 23.5 24.5 — —
Jreokr (ki) (m) 87.90 87.90 — — — —
AR (ki) (m*/s) 99.89 99. 89 — — — —
o (ki) (m*/s) 100. 07 100. 07 — — — —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 3.7 4.6 — — — —

ARt (BE/K ) 11 12 — — — —
UK (m) 8.0 6.5 0.8 3.5 — —
KGR (m) 0.5 4.0 7.0 0.5 0.2 0.7 — —
S 2,395 9 I £2,395 B 2,395 9] 2,355 9] I 2,355 9] 2,395 9] — —

B () i R R R R R R — —

KR (‘) 21.3 21.1 21.1 20.9 21.3 21.7 — —
B () 2.1 1.2 1.2 1.6 0.8 1.7 — —

DO (mg/1) 8.6 8.5 8.6 8.9 8.7 8.9 — —
BRI (mS/m) 7.2 7.0 5.6 5.3 5.1 6.2 — —

W (ht) ) (EENSHT) (B£) 2.3 1.7 1.7 1.5 1.3 2.2 — —

DO (ZEN53#T) (mg/1) 8.8 9.0 8.9 9.1 9.0 8.9 — 7.500 k
pH (—) 7.5 7.5 7.5 7.6 7.6 7.6 — 6.50L 8. 5LLF
BOD (mg/1) 0.5 0.3 0.4 0.3 0.4 0.4 — ILLF | 2LF
CODMn (mg/1) 1.6 1.5 1.4 1.4 1.4 1.7 — —

SsS (mg/1) 2.2 2.1 2.1 1.7 2.0 2.8 — 25LLF
KGR (MPN/100m1) 4900 3300 7900 3300 3300 7900 — 504 F | 1,00084 F
IR (mg/1) 0. 408 0. 359 0. 359 0.291 0. 286 0.471 — —

MWy v (mg/1) 0.010 0. 009 0. 009 0. 008 0. 008 0.010 — —
rsuana7 4)ba (mg/m”) 0.4 0.3 0.2 0.5 0.6 0.6 — —
HERRE%E & (mg/1) 0. 270 0. 247 0. 245 0.221 0.212 — — —
MAEER e % 5 (mg/1) 0. 002 0. 002 0. 002 0. 001 0. 001 — — —
TR LHEREE (mg/1) 0.034 0. 025 0.023 0. 025 0. 023 — — —
k) CEEREY v (mg/1) 0. 004 0.003 0. 004 0. 004 0. 003 — — —
RFERR Y (mg/1) 0. 005 0. 005 0. 005 — — — — —
VERRMEA L N Y L RTE Y (mg/1) 0. 003 0. 003 0. 003 — — — — —
TJxA T 4Fa (mg/m”) 0.3 0.3 0.2 — — — — —
ik (mg/1) 0. 007 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VA AIV (ng/1) — — — — — — — —

kU Nm A X ERRRE (mg/1) — — — — — — — —

BRI YRR

A | AFRR

{1 AFRRY

A1 AAERY

A | AFRRY

A1 AFRRY




HUNE AV N R TR S B

— T — T k%ﬁ%ﬁj(%ﬁ H: EEk2348H2 H
= TKY k SR i= Vi i=3 i Vi SEW/ e/ 9
A (4 A Eif) (ZA746) GBI (FaBkR) | @A) PRIIEE
JH (W) )8 1 TE 7| ANSERY 7)1 AJER
A B AR 9:30 11:00 7:30 8:35 10:30 —
KA i i IS IS IS —

el (‘C) 28.0 28.0 26.5 27.0 28.0 —
BEARAL (BEKHL) (m) 87.97 87.97 — — — —
AR (ki) (m*/s) 86. 92 86. 92 — — — —
i E (ki) (m*/s) 87.23 87.23 — — — —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 3.5 1.8 — — 3.3 —
ARt (BE/KH) 11 12 — — 11 —
KB (m) 7.5 5.3 0.8 3.4 8.1 —
BRAKTGE (m) 0.5 3.8 6.5 0.5 0.2 0.7 0.5 —
SR 2,395 B 2,355 9] I £2,395 B 2,355 9] 2,355 1) 2,355 1) 2375 9 —

B (HHE) i R i R i R iR R R R —

KR (C) 22.6 22.2 22.1 22.3 21.9 22.8 22.7 —
B (£) 0.9 1.2 1.1 3.3 5.3 3.3 0.8 —

DO (mg/1) 9.9 9.8 9.7 10. 1 9.3 9.9 9.9 —
SR (mS/m) 6.7 6.6 6.6 6.4 5.9 6.7 6.8 —

W (h) ) (EENSHT) () 1.2 2.0 2.1 4.8 5.1 1.6 — —

DO (ZEN43#T) (mg/1) 8.9 8.7 8.6 8.9 8.9 8.7 — 7.5L0

pH (—) 7.7 7.6 7.6 7.6 7.6 7.7 — 6. 500 8. 5LLTF
BOD (mg/1) 0.7 0.7 0.5 0.6 0.6 1.7 — ILLF | 2uF
CODMn (mg/1) 1.5 1.8 1.7 1.7 2.0 2.6 — —

SsS (mg/1) 1.4 2.2 3.6 4.8 6.5 2.1 — 25LLF
KGR (MPN/100m1) 7900 35000 11000 17000 7900 7000 — 504 F | 1,00084 F
IR (mg/1) 0. 299 0.333 0.319 0. 285 0. 299 0. 455 — —
MWy v (mg/1) 0.010 0.011 0.010 0.012 0.014 0.011 — —
rsuana7 4)ba (mg/m”) 2.7 1.3 1.2 1.1 1.7 1.7 — —
HERRE%E & (mg/1) 0. 209 0. 229 0. 227 0.213 0.210 — 0.213 —
MAEER e % 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — 0. 002 —
TR LHEREE (mg/1) 0. 029 0. 038 0. 029 0.018 0.013 — — —
k) CEEREY v (mg/1) 0. 000 0. 002 0.003 0. 003 0. 004 — — —
RFERR Y (mg/1) 0. 002 0. 003 0. 003 — — — — —
VERRMEA L N Y L RTE Y (mg/1) 0. 000 0. 002 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.7 0.7 0.7 — — — — —
ik (mg/1) 0. 001 — — — — — — 0.03LLF
2MIB (ng/1) 0. 000 — — — — — 0. 000 —
A AI (ng/1) 0. 000 — — — — — 0. 000 —
U~ A B R RREE (mg/1) 0. 025 — — — — — 0. 025 —

BRI YRR

A | AFRR

{1 AFRRY

A1 AAERY

A | AFRRY

A1 AFRRY




HUNE AV N R TR S B

T TS W T j?ﬁ?a: FR234E9 A 13 H
= 5w\ ¥ R =y it =y i Vi SEW/ e/ 5
AR (¥ L i) (Chr8) AN ik | AT ) PRILIEE
A (Hifr) #Jd g T8 ) [ AAJERL] ) 1 ASER
A B AR 10:10 11:04 8:03 9:06 — —
KA 5} IS IS IS — —

el (C) 30.2 30.5 25.3 29. 1 — —
Jreokr (ki) (m) 87.98 87.98 — — — —
AR (HP/Ki) (m*/s) 56. 79 56. 79 — — — —
i E (ki) (m*/s) 55. 27 55. 27 — — — —
B QAT (cm) — — >100 >100 — —
EEE (ki) (m) 7.7 5.6 — — — —

ARt (BE/KH) 9 8 — — — —
KB (m) 8.0 5.6 0.8 3.3 — —
BRAKTGE (m) 0.5 4.0 7.0 0.5 0.2 0.7 — —

bdx ) 2,395 B 2,355 9] I £2,395 B 2,355 9] 2,355 1) 2,355 1) — —

B () i R R R R R R — —

KR (C) 22.9 22.1 21.9 22.1 22.3 22.3 — —
B (£) 1.6 1.1 0.6 1.0 1.0 1.8 — —

DO (mg/1) 9.2 8.7 8.3 8.5 8.8 8.9 — —
EREEE (mS/m) 7.4 7.3 7.2 7.7 7.2 7.2 — —

W (h) ) (EENSHT) () 0.9 0.9 0.9 0.7 0.7 1.2 — —

DO (ZEN43#T) (mg/1) 9.1 9.0 8.9 9.0 8.7 8.9 — 7.500 F

pH (—) 7.4 7.4 7.4 7.5 7.4 7.5 — 6. 500 8. 5LLTF
BOD (mg/1) 0.7 0.3 0.4 0.4 0.3 0.3 — ILLF | 2uF
CODMn (mg/1) 1.5 1.4 1.3 1.3 1.4 1.4 — —

SsS (mg/1) 0.8 0.9 1.1 0.7 0.6 1.1 — 25LLF
KGR (MPN/100m1) 1700 3300 2400 790 4600 3300 — 504 F | 1,00084 F
IR (mg/1) 0.413 0. 369 0. 364 0. 359 0. 359 0. 354 — —

MWy v (mg/1) 0.011 0. 008 0. 008 0. 007 0. 006 0. 008 — —
rsuana7 4)ba (mg/m”) 2.7 0.8 0.6 0.3 0.6 1.1 — —
HERRE%E & (mg/1) 0. 298 0. 299 0. 286 0. 289 0. 264 — — —
MAEER e % 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 003 — — —
TUEo NHERSE (mg/1) 0. 025 0. 027 0. 036 0. 046 0. 049 — — —
AU UEREY v (mg/1) 0. 004 0. 004 0. 004 0. 004 0.003 — — —
BfRTER Y > (mg/1) 0. 007 0. 004 0. 004 — — — — —
VEREA LV B S RETR Y o (mg/1) 0. 004 0.003 0.003 — — — — —
TJxA T 4Fa (mg/m”) 0.6 0.7 0.6 — — — — —
igh (mg/1) 0. 006 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VxFAIY (ng/1) — — — — — — — —

b U a2 AR (mg/1) — — — — — — — —

BRI YRR

A | AFRR

{1 AFRRY

A1 AAERY

A | AFRRY

A1 AFRRY




HUNE AV N R TR S B

et TS W T f?ﬁ?a: FR234E10H 6 H
5 AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
A (5 B L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 11:32 13:56 8:20 9:24 — —
KA Z 2 2 2 — —

8l (C) 19.7 20. 0 21.0 21.8 — —
JrokAr (ki) (m) 88. 04 88. 04 — — — —
AR (ki) (m*/s) 47.53 47.53 — — — —
i E (ki) (n*/s) 47.57 47.57 — — — —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) 5.6 >4.9 — — — —
AR (BE/KH) 9 9 — — — —
KB (m) 8.4 4.9 0.8 3.4 — —
KK (m) 0.5 4.2 7.4 0.5 0.2 0.7 — —

bdx ) 2355 9 4355 9 4355 9 2355 1 4355 1 4,355 9 — —

R (TF) g R R R R R R — —

KR (‘C) 17.1 16.8 16.8 17.3 21.0 16.9 — —
Fijics (%) 1.3 0.9 1.2 1.3 0.8 1.7 — —

DO (mg/1) 9.5 9.4 9.4 10.0 9.4 9.8 — —
BRI (mS/m) 6.5 6.6 6.6 6.6 5.8 6.6 — —

W (ht) ) (EENSHT) () 0.9 1.1 1.0 1.0 0.6 1.2 — —

DO (ZEN43HT) (mg/1) 9.8 9.9 9.9 10.0 9.8 9.8 — 7.5L0
pH (—) 7.5 7.5 7.5 7.6 7.6 7.5 — 6. 500 8. 5L F
BOD (mg/1) 0.3 0.4 0.3 0.4 0.2 0.2 — ILLF | 2LF
CODMn (mg/1) 1.4 1.4 1.4 1.4 1.4 1.3 — —

Ss (mg/1) 0.9 0.8 1.3 0.7 0.6 0.9 — 25LLF
KGR (MPN/100m1) 790 1300 7000 790 2400 1700 — 50LLF | 1,00080 F
fREEHR (mg/1) 0. 346 0. 346 0.332 0. 360 0. 303 0. 360 — —

Wy v (mg/1) 0. 007 0. 008 0. 007 0. 007 0. 006 0. 009 — —
Va=3= Y (mg/m”) 1.2 1.6 1.4 0.6 0.9 1.8 — —
[ (mg/1) 0.273 0.277 0.279 0. 258 0.238 — — —
MAHER e 5 (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
TR LHEREE (mg/1) 0.036 0.026 0. 049 0. 028 0. 021 — — —
A kY CEEREY v (mg/1) 0. 002 0. 002 0. 002 0. 003 0. 002 — — —
VAR Y > (mg/1) 0. 004 0. 003 0. 003 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 002 0. 002 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.8 0.7 0.7 — — — — —
ik (mg/1) 0. 006 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VA AIV (ng/1) — — — — — — — —

hU o Nm A X ERRRE (mg/1) — — — — — — — —

BRI YRR

A | AFRR

A | AFRRY

{1 AASERY

{1 AFRRY

A | AFRRY




HUNE AV N R TR S B

et TS W T f?ﬁ?a: FRE234E11LH 4
5 HrKY ¥ R =y Vi =y i Vi SEW/ e/ 5
REHR (5 B L) (=47 16) A a1 (5 Dk ) (AT D) RELE
IEH (HAD) #8 g \ T8 ) NSRRI {1 SRR
A BA AR 10:05 11:16 8:00 9:27 11:00 —
KA i i IS IS IS —

8l (C) 20.5 22.0 18.6 18.3 22.0 —
JrokAr (ki) (m) 87.91 87.91 — — — —
AR (ki) (m*/s) 31.92 31.92 — — — —
i E (ki) (n*/s) 35.33 35. 33 — — — —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) 7.5 >4.9 — — >4.6 —
AR (BE/KH) 11 12 — — 12 —
KB (m) 8.6 4.9 0.8 3.3 4.6 —
ARG (m) 0.5 4.3 7.6 0.5 0.2 0.7 0.5 —

bdx ) 2355 9 4355 9 4355 9 2355 1 4355 1 4,355 9 4355 B —

R (TF) g R R R R R R R —

KR (‘C) 16.3 16. 1 16.1 16.6 16.6 16.2 17.3 —
Fijics (%) 1.0 1.0 0.5 0.7 0.7 1.5 0.8 —

DO (mg/1) 9.7 9.6 9.5 9.8 9.4 9.6 9.8 —
RS (mS/m) 7.9 8.1 8.1 8.4 7.2 8.0 8.0 —

W (ht) ) (EENSHT) () 0.7 0.6 0.6 0.4 0.4 1.0 — —

DO (ZEN43HT) (mg/1) 10.0 10.1 10.0 10.0 9.9 10.0 — 7.5L0
pH (—) 7.5 7.5 7.6 7.6 7.5 7.6 — 6. 500 8. 5L F
BOD (mg/1) 0.2 0.2 0.3 0.4 0.4 0.3 — ILLF | 2LF
CODMn (mg/1) 1.2 1.3 1.3 1.2 1.2 1.4 — —

Ss (mg/1) 0.8 0.7 0.8 0.4 0.3 1.1 — 25LLF
KGR (MPN/100m1) 790 1400 330 1100 2400 2200 — 50LLF | 1,00080 F
fREEHR (mg/1) 0. 307 0.327 0. 341 0. 341 0.337 0.371 — —

Wy v (mg/1) 0. 006 0. 007 0. 006 0. 006 0. 006 0. 007 — —
Va=3= Y (mg/m”) 0.6 0.8 0.6 0.7 0.9 0.7 — —
[ (mg/1) 0. 253 0.261 0. 259 0. 267 0.228 — — —
MAHER e 5 (mg/1) 0. 002 0. 002 0. 002 0. 003 0. 001 — — —
TR LHEREE (mg/1) 0. 022 0. 005 0. 005 0. 005 0. 005 — — —
A kY CEEREY v (mg/1) 0. 002 0. 002 0. 002 0. 001 0. 001 — — —
VAR Y > (mg/1) 0. 003 0. 003 0. 003 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 002 0. 002 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.6 0.7 0.6 — — — — —
ik (mg/1) 0. 007 — — — — — — 0.03LLF
2MIB (ng/1) 0 — — — — — 0 —
et AI v (ng/1) 0 — — — — — 0 —
hUoNa A K UARHE (mg/1) 0.022 — — — — — 0.017 —

BRI YRR

A | AFRR

A | AFRRY

{1 AASERY

{1 AFRRY

A | AFRRY




HUNE AV N R TR S B

e e U TS W T k%ﬁ%ﬁj(%ﬁ H : FAk234E12H6H
= AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
A (5 1itE Ei) (= 47-46) (125 118) 7 Mk ) ATk ) BB
FH () % JE e NE ] ANSERRY {] )| SR
A BA AR 10:00 10:48 8:00 9:00 — —
PN i) IS IS i — —
8l (‘C) 12.3 12.7 8.1 12.5 — —
BEARAL (BE/KHL) (m) 87.98 87.98 — — — —
AR (ki) (m*/s) 43. 44 43. 44 — — — —
i E (ki) (n*/s) 50. 25 50. 25 — — — —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) 6.5 >5.0 — — — —
AR (BE/KH) 11 11 — — — —
KB (m) 9.5 5.0 0.8 3.4 — —
BRAKTGE (m) 0.5 4.8 8.5 0.5 0.2 0.7 — —
bdx ) £, 55 £, 55 £, 55 £, 55 £, 55 B £, 55 — —
B () g R R R R R R — —
KR (‘C) 11.9 11.8 11.7 11.6 11.5 11.7 — —
Fijics (%) 0.9 0.9 0.9 0.5 0.5 0.8 — —
DO (mg/1) 11.1 11.2 11.1 11.1 11.1 11.0 — —
BRI (mS/m) 6.1 6.1 6.1 6.2 6.0 6.2 — —
W (ht) ) (EENSHT) () 1.0 1.0 1.1 0.7 0.6 1.0 — —
DO (ZEN43HT) (mg/1) 1.1 11.1 10.9 11.1 11.2 11.0 — 7.500
pH (—) 7.5 7.5 7.5 7.5 7.5 7.5 — 6.50L 8. 5LLF
BOD (mg/1) 0.3 0.2 0.3 0.3 0.4 0.2 — ILLF | 2LF
CODMn (mg/1) 1.6 1.6 1.6 1.3 1.4 1.5 — —
Ss (mg/1) 0.9 1.1 1.2 0.4 0.4 1.1 — 25LLF
KGR (MPN/100m1) 1300 5400 5400 2400 1100 3500 — 50LLF | 1,00080 F
fREEHR (mg/1) 0.317 0. 342 0.273 0. 269 0. 269 0.322 — —
Wy v (mg/1) 0. 006 0. 006 0. 007 0. 005 0. 004 0. 006 — —
Va=3= Y (mg/m*) 0.2 0.3 0.3 0.3 0.4 0.4 — —
HRREE R (mg/1) 0.222 0.215 0.221 0.224 0. 198 — — —
MY A RE %2 3 (mg/1) 0. 002 0. 002 0. 001 0. 002 0. 002 — — —
TUESY NHERSE (mg/1) 0.038 0.023 0. 044 0.038 0. 028 — — —
AR CERREY (mg/1) 0. 002 0. 002 0.003 0. 002 0. 002 — — —
VAR Y > (mg/1) 0. 003 0. 003 0. 003 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 002 0. 002 0. 003 — — — — —
T=F T4 Fa (mg/m”) 0.6 0.7 0.7 — — — — —
ik (mg/1) 0.003 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VoA AI v (ng/1) — — — — — — — —
hU o Nm A X ERRRE (mg/1) — — — — — — — —
R R A0 A% AL A% A1) HAAZE A AL A% AL A%




HUNE AV N R TR S B

s TS W T f?ﬁ?a: FR249E1A 10H
= AT7KY ? =8 =3 Vi i=8 i VISEV/S/ 5
A (5 B L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
FH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 10:00 11:05 8:00 9:01 — —
KA i) IS IS IS — —

KU (‘©) 5.8 6.5 2.5 2.7 — —
JrokAr (ki) (m) 87. 77 87.77 — — — —
AR (ki) (m*/s) 30. 47 30. 47 — — — —
i E (ki) (m*/s) 30. 50 30. 50 — — — —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) >8.0 5.2 — — — —

AR (BE/KH) 12 9 — — — —
KB (m) 8.0 5.2 0.8 3.1 — —
KK (m) 0.5 4.0 7.0 0.5 0.2 0.6 — —

bdx ) 2355 9 4355 9 4355 9 2355 1 4355 1 4,355 9 — —

R (TF) g R R R R R R — —

KR (‘C) 6.4 6.4 6.4 6.2 6.8 6.3 — —
Fijics (%) 0.8 0.6 0.6 0.3 0.3 1.0 — —

DO (mg/1) 12.5 12. 4 12.3 12.2 12. 4 10.9 — —
BRI (mS/m) 7.4 7.4 7.4 7.1 6.2 7.2 — —

W (ht) ) (EENSHT) () 0.7 0.7 0.8 0.4 0.4 0.8 — —

DO (ZEN43HT) (mg/1) 12.2 12.4 12.3 12.6 12.4 10.8 — 7.500
pH (—) 7.5 7.5 7.5 7.5 7.5 7.5 — 6. 500 8. 5L T
BOD (mg/1) 0.6 0.3 0.3 0.3 0.3 0.4 — ILLF | 2LF
CODMn (mg/1) 1.3 1.3 1.3 1.2 1.3 1.4 — —

Ss (mg/1) 0.7 0.6 0.7 0.2 0.3 0.7 — 25LLF
KGR (MPN/100m1) 490 110 110 460 220 170 — 504 F | 1,00080 F
fREEHR (mg/1) 0. 386 0.314 0.314 0.270 0.246 0.328 — —

Wy v (mg/1) 0. 006 0. 007 0. 006 0. 005 0. 004 0. 006 — —
Va=3= Y (mg/m”) 0.3 0.3 0.3 0.3 0.4 0.5 — —
[ (mg/1) 0. 259 0.232 0. 236 0.214 0. 196 — — —
MAHER e 5 (mg/1) 0.003 0.003 0.003 0. 001 0. 001 — — —
TR LHEREE (mg/1) 0. 057 0. 045 0. 052 0. 037 0. 034 — — —
AR CERREY (mg/1) 0. 002 0. 002 0. 002 0. 002 0. 002 — — —
VAR Y > (mg/1) 0. 002 0. 003 0. 003 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 001 0. 002 0. 001 — — — — —
TJxA T 4Fa (mg/m”) 0.7 0.6 0.6 — — — — —
ik (mg/1) 0. 005 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VoA AI v (ng/1) — — — — — — — —

hU o Nm A X ERRRE (mg/1) — — — — — — — —

BRI YRR

A | AFRR

A | AFRRY

{1 AASERY

{1 AFRRY

A | AFRRY




HUNE AV N R TR S B

e e gt TS W T k%ﬁ%ﬁj(%ﬁ H : FR24492H 13H
5 HrKY ¥ R =y Vi =y i Vi SEW/ e/ 5
WA (5 1ifE Ei) (= 47-46) A a1 7 Mk ) ATk ) BB
FH () % JE e NE ] ANSERRY {] )| SR
A BA AR 10:22 11:26 7:57 9:30 11:06 —
KA & 55} = 2 2 —
KU (‘©) 3.0 3.0 1.5 4.5 3.2 —
JrokAr (ki) (m) 87.85 87.85 — — 87.85 —
AR (ki) (m*/s) 31.96 31.96 — — 31.96 —
o (ki) (m*/s) 31.88 31.88 — — 31.88 —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) >8.0 >5. 1 — — >7.5 —
AR (BE/KH) 10 10 — — 10 —
KB (m) 8.0 5.1 0.8 3.3 7.5 —
BK K (m) 0.5 4.0 7.0 0.5 0.2 0.7 0.5 —
SR 2355 9 4355 9 4355 9 2355 1 4355 1 4,355 9 4355 B —
R (TF) g R i R i R fiE R g R g R g R —
KR (‘C) 4.5 4.5 4.5 4.1 4.8 4.5 4.5 —
Fijics (%) 1.1 1.0 1.0 0.6 0.7 1.2 0.7 —
DO (mg/1) 13.1 13.0 13.0 13.2 12.8 13.2 12.7 —
RS (mS/m) 8.2 8.2 8.3 8.7 8.1 8.2 8.6 —
W (ht) ) (EENSHT) () 1.0 1.1 1.0 0.7 0.7 1.1 — —
DO (ZEN43HT) (mg/1) 13.2 13.3 13.1 13.3 13.0 13.2 — 7.5L0
pH (—) 7.6 7.6 7.6 7.6 7.6 7.6 — 6.50L 8. 5LLF
BOD (mg/1) 0.4 0.3 0.3 0.3 0.3 0.1 — ILLF | 2LF
CODMn (mg/1) 1.3 1.3 1.1 1.4 1.3 1.2 — —
Ss (mg/1) 0.8 0.8 0.7 0.6 0.4 0.8 — 25LLF
PN (MPN/100m1) 33 79 33 130 110 33 — 50LLF | 1, 00084 F
IR (mg/1) 0.574 0.525 0.541 0.536 0. 552 0.563 — —
Wy (mg/1) 0. 006 0. 006 0. 007 0. 006 0. 005 0. 007 — —
Va=-3= Py (mg/m”) 0.2 0.2 0.2 0.2 0.3 0.2 — —
[ (mg/1) 0. 447 0. 446 0. 481 0. 406 0. 356 — 0. 420 —
MAHER e 5 (mg/1) 0.003 0.003 0. 004 0. 006 0. 002 — 0. 004 —
TUESY NHERSE (mg/1) 0. 034 0. 039 0. 047 0. 044 0. 034 — — —
AR CERREY (mg/1) 0.003 0.003 0.003 0. 003 0. 002 — — —
VAR Y > (mg/1) 0. 003 0. 004 0. 004 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 002 0. 003 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.5 0.5 0.4 — — — — —
ik (mg/1) 0. 004 — — — — — — 0.03LLF
2MIB (ng/1) 0 — — — — — 0 —
et AI v (ng/1) 0 — — — — — 0 —
hUoNa A K UARHE (mg/1) 0.018 — — — — — 0.017 —
R R A0 A% AL A% A1) HAAZE A AL A% AL A%




HUNE AV N R TR S B

— T — T f?ﬁ?a: ERk244E3H9 H
= AT7KY ? =8 =3 Vi i=8 i VISEV/S/ ;
AL (5 B L) (=47 16) G2 O 1) (7 K1) (AT D) RELE
FEH () % JE e e ] ) 1 AAKER] {1 A%ER
A BA AR 9:57 11:00 8:00 8:51 — —
KA 55 55} 55} 55} — —

KU (‘©) 6.2 5.2 8.2 7.8 — —
JrokAr (ki) (m) 87.90 87.90 — — — —
AR (ki) (m*/s) 82.32 82.32 — — — —
i E (ki) (m*/s) 84.16 84.16 — — — —
FERE QAT (cm) — — >100 >100 — —
EHEE (ki) (m) 6.5 >4.9 — — — —

AR (BE/KH) 12 12 — — — —
KB (m) 8.0 4.9 0.8 3.1 — —
KK (m) 0.5 4.0 7.0 0.5 0.2 0.6 — —

bdx ) 2355 9 4355 9 4355 9 2355 1 4355 1 4,355 9 — —

R (TF) g R R R R R R — —

KR (‘C) 9.3 9.4 9.3 8.5 8.7 9.4 — —
Fijics (%) 1.2 1.2 1.2 1.3 1.7 1.9 — —

DO (mg/1) 11.5 11.6 11.5 11.8 11.7 11.5 — —
BRI (mS/m) 6.4 6.3 6.4 6.2 6.0 6.3 — —

W (ht) ) (EENSHT) () 0.9 1.0 1.1 1.0 1.6 1.6 — —

DO (ZEN43HT) (mg/1) 11.6 11.9 11.5 12.0 12.0 11.6 — 7.5L0
pH (—) 7.7 7.7 7.7 7.7 7.7 7.7 — 6. 500 8. 5L F
BOD (mg/1) 0.3 0.3 0.3 0.3 0.1 0.2 — ILLF | 2LF
CODMn (mg/1) 1.2 1.2 1.3 1.2 1.2 1.3 — —

Ss (mg/1) 1.1 1.1 1.7 1.2 1.0 1.8 — 25LLF
KGR (MPN/100m1) 700 490 790 790 790 2200 — 50LLF | 1,00080 F
fREEHR (mg/1) 0. 493 0.418 0. 450 0.375 0. 385 0. 429 — —
Wy v (mg/1) 0. 007 0. 006 0. 007 0. 006 0. 009 0. 007 — —
Va=3= Y (mg/m”) 0.6 0.6 0.7 0.7 1.1 0.6 — —
[ (mg/1) 0. 343 0. 360 0. 339 0. 301 0.276 — — —
MAHER e 5 (mg/1) 0. 002 0. 002 0. 002 0. 001 0. 001 — — —
TR LHEREE (mg/1) 0.031 0.031 0.033 0. 031 0.033 — — —
A kY CEEREY v (mg/1) 0.003 0.003 0.003 0. 002 0. 003 — — —
R Y (mg/1) 0. 004 0. 004 0. 004 — — — — —
VERRPEA L N Y L RTE Y (mg/1) 0. 001 0. 001 0. 002 — — — — —
TJxA T 4Fa (mg/m”) 0.8 0.8 0.9 — — — — —
ik (mg/1) 0. 005 — — — — — — 0.03LLF
2MIB (ng/1) — — — — — — — —
VoA AI v (ng/1) — — — — — — — —

hU o Nm A X ERRRE (mg/1) — — — — — — — —

BRI YRR

A | AFRR

A | AFRRY

{1 AASERY

{1 AFRRY

A | AFRRY






